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7XMXDQ GDUL�SHQHOLWLDQ�LQL�DGDODK�XQWXN PHQJDQDOLVLV�UDQFDQJDQ SHUHQFDQDDQ�

VXPEHU�GD\D�PDQXVLD�SDGD�6HYHQ�5HQRQ�GHQLP�GDODP�EHUNRPSHWLVL� GL� SDVDU� MHDQV

GHQLP�EDLN�GL�NDQFDK�QDVLRQDO�PDXSXQ�LQWHUQDVLRQDO� /DWDU�EHODNDQJ�GDUL�SHQXOLVDQ�

LQL� NDUHQD� 6HYHQ� UHQRQ� LQJLQ PHQJHPEDQJNDQ� ELVQLVQ\D� GLPDVD� GHSDQ�� VHODLQ� LWX�

SHQHOLWLDQ� LQL� MXJD� PHQMDGL� NHODQMXWDQ� GDUL� HYDOXDVL� EXVLQHVV� SODQ \DQJ� WHODK�

GLODNXNDQ��

0HWRGH� 3HQHOLWLDQ� \DQJ� GLJXQDNDQ� GDODP� SHQHOLWLDQ� LQL� DGDODK� 'HVNULSWLI�

GHQJDQ�3HQGHNDWDQ�.XDOLWDWLI���7HNQLN�DQDOLVLV�GDWD�PHQJJXQDNDQ�DQDOLVLV�GHVNULSWLI��

DQDOLVLV�LQWHUQDO�GDQ�MXJD�SHQJHPEDQJDQ�\DQJ�WHODK�GLODNXNDQ�

%HUGDVDUNDQ� KDVLO� SHQHOLWLDQ� LQL� GLGDSDWNDQ� UDQFDQJDQ� SHUHQFDQDDQ� VXPEHU�

GD\D�PDQXVLD� GDODP�PHPEDQJXQ�PHUHN� GDJDQJ 6HYHQ�5HQRQ�GDQ� EHUNRPSHWLVL� GL�

NDQFDK� QDVLRQDO� PDXSXQ� LQWHUQDVLRQDO� DGDODK GHQJDQ�PHQHQWXNDQ� NHEXWXKDQ� DNDQ�

VXPEHU�GD\D�PDQXVLD�\DQJ�GLPLOLNL�ROHK�6HYHQ�UHQRQ XQWXN�PDVD�\DQJ�DNDQ�GDWDQJ�

DJDU�SHUXVDKDDQ�GDSDW�PHQHQWXNDQ�ODQJNDK�ODQJNDK�DSD�\DQJ�KDUXV�GLODNXNDQ�XQWXN�

PHPHQXKL�NHEXWXKDQQ\D��

.DWD NXQFL � SHUHQFDQDDQ�VGP��XVDKD�NHFLO�PHQHQJDK��GHQLP�


